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Q:1 Choose the odd one out from the following
image?

Q:2 Four pairs of numbers have been given, out of
which three are alike in some manner, while one is
different. Choose out the odd one.

1.18 : 306
2.25:650
3.23:5b62
4.13:182

Q:3 Choose the odd one out from the given
alternatives.

1. A5Z15
2. CaXn
3. F12U8
4.D6V14

Q:4 Out of the following four figures, three are alike
in some manner and one differs from the rest in a
certain manner. Select the odd figure.

Q:5 Three out of the four given alternatives are
alike in some manner. Find the one that is odd.

1. LMOQ
2. EFHJ

3. VWYA
4. BCDF
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Q:6 Find the odd one out.
1. CARGO

2. PINTO

3. SANTA

4. HATCH

Q:7 Find the odd one out.

howp~
A WRN

Q:8 Find the odd one out.
1. 8,59
2.6, 31
3.9,78
4.7, 44

Q:9 Three out of the four given words are alike in
some way. Find the odd option.

1. Anonymous
2. Innominate
3. Incognito
4. |dentified

Q:10 Four words have been given, out of which
three are dlike in some manner and one is
different. Select the odd word.

1. Ruby

2. Sapphire
3. Marble
4. Diamond
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IAnswers and Solutions

Q:1 The correct answer is Option 3, i.e. C.

The logic which follows here is:

In all the figures there are two lines, except in
figure C, which has three lines in it.

Hence, Option 3 is the correct answer.

Q:2 The correct answer is option 1i.e.18 : 306
Let us see all the options:

(18)2-18 = 306

(25)2 + 25 = 650

(23)2 + 23 =552

(13)2+13 =182

Q:3 The correct answer is option 4 i.e. D6V14

Let us see all the options:

1) A5ZI5 - A is the first letter from left and Z is the
first letter from right in English alphabetical order;
5+15 =20

2) C9XI1 - C is the third letter from left and X is the
third letter from right in English alphabetical order;
9+11=20

3) F12U8 - F is the sixth letter from left and U is the
sixth letter from the right in English alphabetical
order;12 + 8 = 20

4) D6V14 - D is the fourth letter from left, whereas
V is the fifth letter from the right in English
alphabetical order; 6 + 14 = 20

Hence option 4 is the odd one

Q:4 The correct answer is Option 2 i.e. B

Except for Figure B, all other figures are divided in 4
parts.

Hence, the correct answer is B.

Q:5 The correct answer is Option 4 i.e. BCDF
DIMOQ-L+1=M,M+2=00+2=Q
2)EFHJ-E+1=FF+2=HH+2=
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3 VWYA-V+1=WW+2=YY+2=A
4)BCDF-B+1=C,C+1=D,D+2=F
Hence the correct answer is BCDF.

Q:6 The correct answer is Option 4 i.e. HATCH
Logic: The word will have 2 vowels

Except for HATCH rest, all words are consisting 2
vowels one at the second position and another
one at the last.

So, HATCH is odd from the above options.
Hence, the correct answer is HATCH.

Q:7 The correct answer is Option 2 i.e. 2.

Except in Figure (2), in all other figures the design
or shape has been divided vertically.

Hence, the correct answer is 2.

Q:8 The correct answer is Option 3 i.e. 9, 78
Logic:

Second number = Square of the first number - 5
82=64-5=59

62=36-5=3l

92=81-5=76#78

72 =49 -5 =44

Clearly, Option 3 is the odd one.

Hence, the correct answer is 9, 78.

Q:9 The correct answer is Option 4 i.e. Identified
Anonymous: (used about a person) whose name
is hot known or made public

Innominate: not named or classified

Incognito: hiding your real name and identity
(especially if you are famous and do not want to
be recognized
Anonymous,
synonyms.
They mean something/someone that is hidden or
not known.

On the other hand, Identified
something/someone that is known.
Hence, the correct answer is Identified.

Innominate, and Incognito are

means

Q:10 The correct answer is Option 3 i.e. Marble
Except for Marble, all others are precious stones.
So, Marble is the odd one out.

Hence, the correct answer is Marble.
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